

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 5

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMR 6754U

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	REAR TAILGATE (CONSISTENT)	DISTORTED	1,780.90	1,712.00
1	REAR TAILGATE WINDSCREEN (CONSISTENT)	SHATTERED	1,236.70	1,236.70
1	REAR TAILGATE WINDSCREEN MOLDING (CONSISTENT)	NECESSARY	189.80	189.80
1	REAR TAILGATE WINDSCREEN INNER GARNISH TOP (CONSISTENT)	CRACKED	194.60	194.60
2	REAR TAILGATE WINDSCREEN INNER GARNISH LH/RH @\$135.40 (CONSISTENT)	O/S CRACKED	270.80	135.40
1	REAR TAILGATE 3RD BRAKE LAMP (CONSISTENT)	CRACKED	243.10	243.10
1	REAR TAILGATE WIPER ARM (CONSISTENT)	NOT NECESSARY	85.50	-
1	REAR TAILGATE WIPER ARM COVER (CONSISTENT)	CUT	21.30	21.30
1	REAR TAILGATE WIPER MOTOR (CONSISTENT)	DAMAGED	773.90	773.90
1	REAR TAILGATE WIPER BLADE (CONSISTENT)	CUT	85.70	85.70
1	REAR TAILGATE LOGO EMBLEM (CONSISTENT)	NECESSARY	78.80	78.80
1	REAR TAILGATE HYBRID SYNERGY DRIVE EMBLEM (CONSISTENT)	NECESSARY	58.60	58.60
1	REAR TAILGATE OUTER CHROME GARNISH (CONSISTENT)	CRACKED	768.90	768.90
1	REAR TAILGATE OUTER LOCK HANDLE SWITCH (CONSISTENT)	NOT NECESSARY	239.10	-
2	REAR TAILGATE NUMBER PLATE LAMP LH/RH @\$35.60 (CONSISTENT)	NOT NECESSARY	71.20	-
1	REAR TAILGATE REVERSE CAMERA (ORIGINAL) (CONSISTENT)	NOT NECESSARY	1,226.90	-
2	REAR TAILGATE HINGE LH/RH @\$133.10 (CONSISTENT)	BENT	266.20	266.20
2	REAR TAILGATE DAMPER LH/RH @\$376.50 (CONSISTENT)	DAMAGED	753.00	753.00
1	REAR TAILGATE INNER TRIM BOARD (CONSISTENT)	CRACKED	570.80	570.80
1	REAR TAILGATE INNER HANDLE (CONSISTENT)	DEFORMED	25.70	25.70
2	REAR TAILGATE RUBBER GUIDE STOPPER LH/RH @\$15.30 (CONSISTENT)	NOT NECESSARY	30.60	-
1	REAR TAILGATE MECHANISM LOCK (CONSISTENT)	DAMAGED	467.60	467.60
1	REAR TAILGATE WEATHER STRIP (CONSISTENT)	CUT	372.90	372.90
2	REAR TAILLAMP LH/RH @\$796.80 (CONSISTENT)	O/S CUT	1,593.60	796.80



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	REAR TAILLAMP APRON GARNISH LH/RH @\$175.60 (CONSISTENT)	O/S DEFORMED	351.20	125.60
2	REAR TAILLAMP APRON GARNISH RETAINER LH/RH @\$170.70 (CONSISTENT)	NOT NECESSARY	341.40	-
1	REAR BUMPER (CONSISTENT)	DEFORMED	1,545.90	1,150.00
2	REAR BUMPER RELECTOR LH/RH @\$60.70 (CONSISTENT)	O/S CRACKED	121.40	60.70
2	REAR BUMPER SIDE RETAINER LH/RH @\$75.40 (CONSISTENT)	NECESSARY	150.80	150.80
2	REAR BUMPER INNER SIDE SHIELD LH/RH @\$111.80 (CONSISTENT)	NOT NECESSARY	223.60	-
2	REAR BUMPER IMPACT BRACKET LH/RH @\$218.60 (CONSISTENT)	O/S DENTED	437.20	218.60
1	REAR END PANEL (CONSISTENT)	DENTED	795.90	795.90
1	REAR END PANEL INNER TOP GARNISH (CONSISTENT)	DEFORMED	158.70	158.70
1	REAR END PANEL TAILGATE LOCK STRIKER (CONSISTENT)	NOT NECESSARY	40.30	-
1	REAR END PANEL TAILGATE ANTENNA SENSOR (CONSISTENT)	CRACKED	165.80	165.80
1	REAR FENDER RH (CONSISTENT)	TO REPAIR SEE LABOUR	1,395.90	-
1	REAR FENDER GLASS WITH MOLDING RH (CONSISTENT)	NOT NECESSARY	931.60	-
1	REAR FENDER GLASS INNER GARNISH BACK RH (CONSISTENT)	NOT NECESSARY	90.80	-
1	REAR FENDER SLIDING DOOR RAIL COVER RH (CONSISTENT)	NOT NECESSARY	417.50	-
1	REAR FENDER INNER LOWER ROUND COVER RH (CONSISTENT)	NOT NECESSARY	19.70	-
1	REAR FENDER INNER TRIM BOARD RH (CONSISTENT)	CRACKED	685.40	685.40
1	REAR FENDER INNER TRIM BOARD COVER RH (CONSISTENT)	NOT NECESSARY	72.10	-
1	REAR FENDER INNER AIRCON EVAPORATOR UNIT RH (CONSISTENT)	CRACKED	1,570.90	1,570.90
1	REAR FENDER INNER 3RD ROLL SEAT BRACKET RH (CONSISTENT)	NOT NECESSARY	1,375.30	-
1	REAR SUB CHASSIS FRAME RH (CONSISTENT)	TO REPAIR SEE LABOUR	3,480.20	-
1	REAR WELL PANEL (CONSISTENT)	TO REPAIR SEE LABOUR	698.90	-



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR WELL PANEL INNER TOP UPHOLSTERY BOARD (CONSISTENT)	DEFORMED	1,185.70	835.00
1	REAR WELL PANEL INNER JACKING TOOL COVER (CONSISTENT)	NOT NECESSARY	189.50	-
1	REAR WELL PANEL INNER TOP UPHOLSTERY TRIM (CONSISTENT)	NOT NECESSARY	404.60	-
1	REAR WELL PANEL INSULATOR MAT (CONSISTENT)	NOT NECESSARY	234.20	-
	LESS 25% DISCOUNT		-7,122.68	-3,667.30
			21,368.02	11,001.90
	SPECIAL NETT ITEMS			
1	SET REAR TAILGATE INNER BRANDED IN-CAR CAMERA RECORDER (CONSISTENT)(SN)	DAMAGED	980.00	580.00
1	REAR TAILGATE WINDSCREEN 3M SOLAR FILM (CONSISTENT)(SN)	NECESSARY	450.00	280.00
1	SET REAR TAILGATE WINDSCREEN SEALANT WITH PRIMER (CONSISTENT)(SN)	NECESSARY	100.00	60.00
1	SET REAR TAILGATE WINDSCREEN INNER GARNISH TOP CLIPS (CONSISTENT)(SN)	NECESSARY	40.00	20.00
2	SET REAR TAILGATE WINDSCREEN INNER GARNISH CLIPS LH/RH @\$40.00 (CONSISTENT)(SN)	NECESSARY	80.00	40.00
1	SET REAR TAILGATE OUTER CHROME GARNISH CLIPS (CONSISTENT)(SN)	NECESSARY	60.00	20.00
1	SET REAR TAILGATE INNER TRIM BOARD CLIPS (CONSISTENT)(SN)	NECESSARY	80.00	30.00
2	SET REAR TAILLAMP CLIPS LH/RH @\$40.00 (CONSISTENT)(SN)	NECESSARY	80.00	20.00
1	SET REAR BUMPER CLIPS (CONSISTENT)(SN)	NECESSARY	80.00	40.00
1	REAR END PANEL SEALANT (CONSISTENT)(SN)	NECESSARY	100.00	60.00
1	SET REAR END PANEL INNER TOP GARNISH CLIPS (CONSISTENT)(SN)	NECESSARY	50.00	20.00
1	REAR FENDER SEALANR RH (CONSISTENT)(SN)	NOT NECESSARY	120.00	-
1	REAR FENDER GLASS INNER GARNISH BACK CLIPS SET RH (CONSISTENT)(SN)	NOT NECESSARY	40.00	-
1	REAR FENDER INNER TRIM BOARD CLIPS SET RH (CONSISTENT)(SN)	NECESSARY	80.00	40.00
1	REAR SUB CHASSIS FRAME SEALANT RH (CONSISTENT) (SN)	NOT NECESSARY	60.00	-
1	REAR WELL PANEL SEALANT (CONSISTENT)(SN)	NOT NECESSARY	140.00	-



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	SET REAR WELL PANEL INNER TOP UPHOLSTERY TRIM CLIPS (CONSISTENT)(SN)	NOT NECESSARY	50.00	-
			2,590.00	1,210.00
	LABOUR			
	TO DISMANTLE & REPLACED WITH PANEL BEATING ALL THE ACCIDENT PORTION.INCLUSIVE OF THE REPAIR OF REAR FENDER RH,REAR SUB CHASSIS FRAME RH AND REAR WELL PANEL.		2,800.00	1,000.00
	TO SPRAY PAINTING ALL THE ACCIDENT PORTION & POLISHING AFFECTED AREA.		2,400.00	1,200.00
	TO APPLY ANTI-RUST & TUFF-KOTE.		200.00	80.00
	TO PERFORM LIGHTING & WIRING CHECK.		80.00	30.00
	TO CALIBRATE CHASSIS & CAR BODY BACK TO MANUFACTURING SPECIFICATION.	NOT NECESSARY	380.00	-
	TO DISMANTLE & REINSTALL REAR WINDSCREEN PERFORM.		150.00	120.00
	TO DISMANTLE & REINSTALL REAR FENDER GLASS PERFORM.	NOT NECESSARY	120.00	-
	TO DISMANTLE & REPLACED REAR FENDER AIRCON EVAPORATOR UNIT RH WITH REFILL AIRCON GAS.		250.00	180.00
	TO PERFORM TRANSFER REAR TAILGATE MECHANISM & REALIGN BACK TO MANUFACTURING SPECIFICATION.		180.00	80.00
	TO DISMANTLE & REPLACED REAR BUMPER REVERSE SENSOR WITH DISTANCE SETTING.		80.00	50.00
	TO DISMANTLE & REPLACED REAR WELL PANEL INNER HYBRID BATTERY WITH DISCOVER THE POWER AND USE THE SCAN TO REPROGRAM.	NOT NECESSARY	680.00	-
	TO DISMANTLE & REPLACED REAR EXHAUST SILENCER BOX WITH REALIGN EXHAUST MID PIPE & RUBBER MOUNTING.	NOT NECESSARY	180.00	-
	TO DISMANTLE & REINSTALL INTERIOR CARPET,SEAT WITH OTHER ATTACHMENT PARTS COMPONENT TO FACILITATE REPAIR.		450.00	300.00
	TO PERFORM CONDUCT WATER LEAKAGE TEST OF ACIDENT PORTION.	NOT NECESSARY	80.00	-
			8,030.00	3,040.00
	GRAND TOTAL		31,988.02	15,251.90



Page No.:5 of 5

RECOMMENDED COST OF LUMP SUM REPAIRS		12,200.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CC4/ASM20008888/Ags3q2



ADRIAN LING WAI PING

B.Eng,AMSOE,AMIRTE,AMSAE-A,M.MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.